' Q i
B Eco-Schools
& )
Pﬁw © BRI 110 seeEHS
RRESIE

- R CAWRFL-E-RRECBREFRFRRE O IRHIE B SRR
A Tﬁﬁ%&xﬁ'—’}“i‘?*f‘"ﬁvﬂ ) '%%?’?ﬁl‘“‘%"
CPERIILE 47 14p T ESERIE R 047 15 = 8:30~15:00FF ¢ -

S BL AR B
sk (-)F R (ZO)R® &
CELFED

(-)EFFP (Deed (&z (3100 27 (4)200 2 =
(5)400 2 & (6)4%100 2 ¢ &+ (T)4%400 2 ¢ & 4
(z)m%8sE P :(1)2000M + Fzd% 4 ZLL%A&ZO R 4R o
(2)800\'3;&;&&5:%%&@: ,ﬁ}%&&i“}%%‘ﬁ %
(Z)FLapl Rl F o
(E)RFE 2 pEABRES F GREFIR).
S ~FR L E
() SHEFF L2 A5 @Ga RS FHFL 440 2 LBH £EA -
(Z) #35Lh l@%ﬁ"iﬁp ¢ & JF AR - fR oo
(Z) F3THE AT - B 523« (BYP B2 HRE- 1)
(=) spep Bt F(25 A2 235 A 2T ) RS~ EH §FPEEP o
=~ P
M’%i%‘%’unﬁ% frvﬁi&"*\ét;rgp ST S-S N L ,
IDEUP S-S R A ¥ SR -&ff\{v{", ?‘fﬁ-i%.?;f‘{ﬁ%i
AN ,;\;‘:i—u. g’f :
(=) m ERGHE [HRBIRaRTe] L (680752 ge] + (40004 - T600M s+
BoAS 4 S R ]

|

W

I=q

L I I B R T A I R O B B B e
® ¢ e T
soni ,’;[1 ! ﬁzoégﬁ «Lr;:;){, 9 T 6 5 1 5 ) 1 1 1
X ¢ e
® ﬁooij\ g1 éao # 6 4 3 2 1
= d 1 E it =y
P Sy r;;:r (N 4 3 2 |
B0 P
3 6H5400ij~91é30 7 5 3 2 1

() BHREE 3 RY 22— L RpERRZEEFY BT ER - 617
Ao AR bR 2 B RS TSN Z IR F2Z AR UEF
A Bn A o
AT R (D) ehFE S AR A0%  (2)F & EFHFA 30%
(B g HA% A 20% (A Fd HF =) (DL FEF 10%



1~ 2 R

el B e e
A RS 5 e s L. TR N 3 IR T

*
0T A A (% T Bdk B Bemiz Lo AR EE N A | BT Lo SRR 4 R
50%) S
H s (B T4 Lo | BFr £ 13 LEEW | BRI Lo -3 LEAW - BEK 45
SR DA ED) LR RS 3.2 Lk
AXT00M ~ 4%400M 424 (iRrTia | Boav = 7 0 -3 L Bew i poo 1-3 LA~ R 455
Hetr B 50%) A 230
NEOREES s AR (8ITr | BB Lo E R B BBt 5 Lua R - R
i R Lt SRR N1 IRk 5 T
el (4 51T P ] BP— Lo FE A B | BB L SR B
17131 &)
REERGp e pd ) [ Bwa fo -3 LEEM - [P f o 1S3 LA - Bk 4-8
(8510 T 43 6 o & 15LHf | ik 46 LIk 33
F1E)
ks AT B - S BAARESR  B EE

S LR EE:

(- )B¥RELAH-E2FFLZERRS

LT ERTIR AP LS

LIp SRR AT N o FHRIA

AN C 1 S

ﬁ%gw&é:ﬁ% B3 EPMERPRE > B Bt ¥ 2 Hy
CEER RS REAT TR e SRR o

(—)%0“qﬁéw$%*&ﬁ%% (RFLA Hesh 45% » ST A He 40 A 14T
40%>30 AT 12 ALV AL R B L EH AR -

v ¢ EH R ’w%ﬁgi ey
PR T R B - WS
N flfg\vé‘-t“/gﬁ g

(=)

& ¥

Fj’&

& = i= ] fe
Y 2w - [16 *+5[16 *+5 |16 A +5|16 A +5|16 * 45
TRz |19 445[19 A 4516 A +5[19 x 4519 4 45
30 on| B2 [20 14514 L4514 445
Tl® = {20 A45(20 A +5(20 4 +5
(2 ) R LG -BREBRPZEL BJFP LR PHEEFT > 28 FRY 0 F

IS R AR
() F 4184 & 800M L gat Fiabrmrerde £ 4 2
(15 45/1 %)
() W FRRITHARD ARM I LRGS0 FTH
Lo MER AT RELAR R LT
1 - \,lljy’i%,z--f.}a 1)“;;&’;1.5-,'1?’} AN = T

\v:ai ) ?;1 ’ E'Jgg;é:’:a\;.gé '!!tf/'/‘ﬁ'{




